FINANCIAL EVALUATION / COMPARATIVE STATEMENT

Tender for Procurement of Annual Printing and Stationery Items for Examination Department, University of Health Sciences, Lahore

COMPARATIVE STATEMENT:

1. Name of Procuring Agency: University of Health Sciences Lahore

2. Method of Procurement: Single Stage Two Envelopes Bidding Procedure under PPRA Rules 2014 (amended)

3. Title of Procurement: Tender for Procurement of Annual Printing and Stationery Items for Examination Department, University of Health Sciences, Lahore

4. Date & Time of Bid Closing: 20-12-2024 - 03:00 PM5. Date & Time of Bid Opening: 20-12-2024 - 03:30 PM

6. No. of bids received: 03

Sr#	Required Item(s) with specifications					Bio	lder		
					1		2		3
		Qty	UOM	M/s Ishaq Al	M/s Ishaq Al-Fateh Printers		siness Machines	M/s Z.A Corporation	
			1	U/ Price	Total Price	U/ Price	Total Price	U/ Price	Total Price
1	Printing of Set of 2 Answer Book	130,000	Copies	9.422	1,224,803	18.830	2,447,900		
	Question No. = 1-2-3 to 4-5-6								
	Paper Color = White								
	Leaves = 8 (Eight)			v					
	Paper weight = 68 gm (Local Paper)								
	Paper quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.								_
ľ	Bar Code = Sr. No. in Barcode which should be clearly readable							Not qualified d	ue to not quoted
	Watermark = UHS logo as water mark on each page							in all items	mentioned in
	Stitching = Double stitching on one side (as per sample)							Cata	agery-l
	Perforation = On first page (as per sample)		1						
	Bundle No. = to								
	Sr. No. = From to								
	Printing = As per sample								
	Portrait Copy size = 9" X 11.5"		-						
	Packing = Serial wise labeling and packing in laminated craft bind with white sootri.								
2	Printing of Set of 3 Answer Book	200,000	Copies	14.130	2,826,024	25.890	5,178,000		
	Question No. = 1-2-3 to 7-8-9								
	Paper Color = White								
	Leaves = 12 (Twelve)								
	Paper weight = 68 gm (Local Paper)		ŀ						
	Paper quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	,							
ic.	Bar Code = Sr. No. in Barcode which should be clearly readable								ue to not quoted
	Watermark = UHS logo as water mark on each page							10070 10000 0 1000 1000 0	mentioned in
	Stitching = Double stitching on one side (as per sample)							Cata	agery-l
	Perforation = On first page (as per sample)								



12

31

Sur

Ju -

Sr#	Required Item(s) with specifications				ris i de levare a l	Bid	der	0
					1		2	3
		Qty	UOM	M/s Ishaq A	I-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation
	Bundle No. = to	or in the set of the s		The short of the state of the s	Paris Carlos (Paris Carlos Andrews)			A Marie M. M. Marie De Care M. M. Marie M. M. M. Marie M. M. M. Marie M. M. M. Marie M.
	Sr. No. = From to							
	Printing = As per sample							
	Portrait Copy size = 9" X 11.5"							
	Packing = Serial wise labeling and packing in laminated craft bind with white sootri.							
3	Printing of Set of 4 Answer Book	35,000	Copies	18.904	661,624	32.890	1,151,150	
	Question No. = 1-2-3 to 10-11-12	1 22,555	00,00	10.50	30.,02.	52.555	3,72,4,752	
	Paper Color = White,							
	Leaves = 16 (Sixteen), Paper weight = 68 gm (Local Paper) Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball							
	point. Recycled paper is not acceptable.							
	Paper quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is	5						
	not acceptable.							Not qualified due to not quote
12	Bar Code = Sr. No. in Barcode which should be clearly readable							in all items mentioned in
	Watermark = UHS logo as water mark on each page							Catagery-I
	Stitching = Double stitching on one side (as per sample)	1						*
	Perforation = On first page (as per sample)			1				
	Bundle No. = to							
	Sr. No. = From to							
	Printing = As per sample							
	Portrait Copy size = 9" X 11.5"							1
	Packing = Serial wise labeling and packing in laminated craft bind with white sootri.						0.004.000	-
	Printing of Set of 5 Answer Book	60,000	Copies	22.917	1,375,009	38.410	2,304,600	
	Question No. = 1-2-3 to 13-14-15 Paper Color = White							
	Paper Color = White Leaves = 20 (Twenty)							
	Paper weight = 68 gm (Local Paper)			1	1			
	Paper quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is							
	not acceptable.							Not an elificated the set and an eli
	Bar Code = Sr. No. in Barcode which should be clearly readable							Not qualified due to not quote in all items mentioned in
	Watermark = UHS logo as water mark on each page Stitching = Double stitching on one side (as per sample)				1 1			Catagery-I
	Stitching = Double stitching on one side (as per sample) Perforation = On first page (as per sample)							
	Bundle No. = to			4				
	Sr. No. = From to							
	Printing = As per sample							
¥	Portrait Copy size = 9" X 11.5"	,						
	Packing = Serial wise labeling and packing in laminated craft bind with white sootri.		۶					
5	Printing of LEQ Answer Book (18 Leaf)	22,750	Copies	16.433	373,850	36.000	819,000	
	Paper Color = White,							/
	Leaves = 18 (Eighteen)							
	Paper weight = 68 gm (Local Paper)							
	Paper quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	i						
J	Inot acceptable.	1	1		1			
	Y						60	(

166/

Sr#	Required Item(s) with specifications					Bio	der	
5					1		2	3
		Qty	UOM	M/s Ishaq A	I-Fateh Printers	M/s Union Business Machines		M/s Z.A Corporation
	Bar Code = Sr. No. in Barcode which should be clearly readable Watermark = UHS logo as water mark on each page Stitching = Double stitching on one side (as per sample) Perforation = On first page (as per sample) Bundle No. = to Sr. No. = From to							Not qualified due to not quoted in all items mentioned in Catagery-I
	No of Sets = Sets Printing = As per sample Portrait Copy size = 9" X 11.5" Packing = Serial wise labeling and packing in laminated craft bind with white sootri.	1						
6	Practical Answer Book Paper weight = 68 gm (Local Paper) Leaves = 04 (Four) Paper quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable. Copy size = 9" X 11.5" Bundle No. = to Sr. No. = From to Packing = Serial wise labeling and packing in laminated craft bind with white sootri.	30,000	Copies	4.096	122,878	8.300	249,000	Not qualified due to not quoted in all items mentioned in Catagery-I
	Attendance (Theory Answer Book) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable. Size = (Legal) Color = White	30,000	Nos	1.724	51,722	1.300	39,000	Not Quoted
8	First Prof. MBBS Block-I OSPE Answer Book (1 Set = 6 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	8,000	Nos	5.826	46,608	8.600	68,800	Not Quoted
9	First Prof. MBBS Block-II OSPE Answer Book (1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	8,000	Nos	3.661	29,287	4.680	37,440	Not Quoted
	First Prof. MBBS Block-III OSPE Answer Book (1 Set = 3 Leaves, Legal Size) Paper Quality = Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	8,000	Nos	3.661	29,287	4.680	37,440	Not Quoted
	Second Prof. MBBS Block-I OSPE Answer Book (1 Set = 6 Leaves, Legal Size) Paper Quality = Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	8,000	Nos	5.826	46,608	8.600	68,800	Not Quoted
	Second Prof. MBBS Block-II OSPE Answer Book (1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	8,000	Nos	3.661	29,287	4.680	37,440	Not Quoted
13	Second Prof. MBBS Block-III OSPE Answer Book	8,000	Nos	3.661	29,287	4.680	37,440	

8 8

John

S

gk

Sr#	Required Item(s) with specifications				91.0 (92)	Bio		
					1		2	3
		Qty	UOM	M/s Ishaq Al	-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
14	Second Prof. MBBS Anatomy OSPE Answer Book	8,000	Nos	5.826	46,608	8.600	68,800	
	(1 Set = 6 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
15	Second Prof. MBBS Physiology OSPE Answer Book	8,000	Nos	3.661	29,287	4.680	37,440	Nat Overtail
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
16	Second Prof. MBBS Biochemistry OSPE Answer Book	8,000	Nos	3.661	29,287	4.680	37,440	N-1 O-11
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.		,,					Not Quoted
17	Third Prof. MBBS Pharmacology & Therapeutics OSPE Answer Book	8,000	Nos	4.383	35,061	6.400	51,200	
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
18	Third Prof. MBBS General Pathology & Microbiology OSPE Answer Book	8,000	Nos	5.104	40,835	7.900	63,200	
	(1 Set = 5 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
19	Third Prof. MBBS Forensic Medicine & Toxicology OSPE Answer Book	8,000	Nos	4.383	35,061	6.400	51,200	
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
20	Fourth Prof. MBBS Special Pathology OSPE Answer Book	8,000	Nos	5.104	40,835	7.900	63,200	
	(1 Set = 5 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.			,				Not Quoted
	Fourth Prof. MBBS Ophthalmology OSPE Answer Book	8,000	Nos	4.383	35,061	6.400	51,200	
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
22	Fourth Prof. MBBS Otorhinolaryngology OSPE Answer Book	8,000	Nos	4.383	35,061	6.400	51,200	
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
23	Fourth Prof. MBBS Community Medicine OSPE Answer Book	8,000	Nos	4.383	35,061	6,400	51,200	
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
24	Final Prof. MBBS Medicine OSPE Answer Book	8,000	Nos	5.826	46,608	8.600	68,800	
	(1 Set = 6 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
25	Final Prof. MBBS Surgery OSPE Answer Book	8,000	Nos	5.826	46,608	8.600	68,800	
	(1 Set = 6 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
26	Final Prof. MBBS Obstetrics & Gynaecology OSPE Answer Book	8,000	Nos	5.826	46,608	8.600	68,800	
	(1 Set = 6 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
27	Final Prof. MBBS Paediatrics OSPE Answer Book	8,000	Nos	5.104	40,835	7.900	63,200	
	(1 Set = 5 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
28	First Prof. BDS Anatomy & Histology OSPE Answer Book	1,200	Nos	3.964	4,757	3.650	4,380	Out if
							D	Ch A

. 2	//	
16	5/c	

Sr#	Required Item(s) with specifications					Bi	dder		
					1		2	3	
		Qty	UOM	M/s Ishaq Al	-Fateh Printers	M/s Union B	usiness Machines	M/s Z.A Corporation	
	(1 Set = 2 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
29	First Prof. BDS Physiology OSPE Answer Book	1,200	Nos	5.4075	6,489	6.400	7,680		
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.					*		Not Quoted	
30	First Prof. BDS Biochemistry OSPE Answer Book	1,200	Nos	5.4075	6,489	6.400	7,680		
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
31	First Prof. BDS Oral Biology OSPE Answer Book	1,200	Nos	5.4075	6,489	6.400	7,680		
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	1						Not Quoted	
32	Second Prof. BDS Science of Dental Material OSPE Answer Book	1,200	Nos	4.686	5,623	4.680	5,616		
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
33	Second Prof. BDS General Pathology OSPE Answer Book	1,200	Nos	3.964	4,757	3.650	4,380		
	(1 Set = 2 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
34	Second Prof. BDS Pharmacology OSPE Answer Book	1,200	Nos	4.686	5,623	4.680	5,616		
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
35	Second Prof. BDS Community & Preventive Dentistry OSPE Answer Book	1,200	Nos	5.4075	6,489	6.400	7,680		
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
36	Third Prof. BDS General Medicine OSPE Answer Book	1,200	Nos	4.686	5,623	4.680	5,616		
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
37	Third Prof. BDS General Surgery OSPE Answer Book	1,200	Nos	4.686	5,623	4.680	5,616		
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
38	Third Prof. BDS Oral Medicine OSPE Answer Book	1,200	Nos	3.964	4,757	3.650	4,380		
	(1 Set = 2 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
39	Third Prof. BDS Oral Pathology OSPE Answer Book	1,200	Nos	4.686	5,623	4.680	5,616		
	(1 Set = 3 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
40	Third Prof. BDS Periodontology OSPE Answer Book	1,200	Nos	6.129	7,355	7.900	9,480	- 0 100	
	(1 Set = 5 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
41	Final Prof. BDS Prosthodontics OSPE Answer Book	1,200	Nos	3.964	4,757	3.650	4,380		
	(1 Set = 2 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
42	Final Prof. BDS Orthodontics OSPE Answer Book	1,200	Nos	5.4075	6,489	6.400	7,680		
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
43	Final Prof. BDS Operative Dentistry OSPE Answer Book	1,200	Nos	6.129	7,355	7.900	9,480		

6/29

gr

Sr#	Required Item(s) with specifications					Bio	lder		
					1		2	3	
	THE PROPERTY OF THE PROPERTY O	Qty	UOM	M/s Ishaq Al	-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation	
	(1 Set = 5 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.		100213					Not Quoted	
44	Final Prof. BDS Oral & Maxillofacial Surgery OSPE Answer Book	1,200	Nos	5.4075	6,489	6.400	7,680		
	(1 Set = 4 Leaves, Legal Size) Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
AWAF	RD LIST FIRST PROFESSIONAL MBBS								
45	Block-I	1,000	Nos	7.813	7,813	10.200	10,200		
	as per sample (Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
46	Block-II	1,000	Nos	7.813	7,813	10.200	10,200		
	as per sample (Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
47	Block-III	1,000	Nos	7.813	7,813	10.200	10,200		
	as per sample (Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
AWAF	RD LIST SECOND PROFESSIONAL MBBS								
48	Block-I	1,000	Nos	7.813	7,813	10.200	10,200		
	as per sample (Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
49	Block-II	1,000	Nos	7.813	7,813	10.200	10,200	Nuclean	
	as per sample (Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
50	Block-III	1,000	Nos	7.813	7,813	10.200	10,200		
	as per sample (Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)		7					Not Quoted	
AWAF	ED LIST SECOND PROFESSIONAL MBBS								
51	Anatomy	1,000	Nos	3.483	3,483	1.800	1,800		
	(1Set = 1 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
52	Physiology	1,000	Nos	6.370	6,370	7.900	7,900		
	(1Set = 5 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	Sec. 1						Not Quoted	
53	Biochemistry	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
WAF	D LIST THIRD PROFESSIONAL MBBS								
54	Pharmacology & Therapeutics	1,000	Nos	5.648	5,648	4.680	4,680	Not Ousted	
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.		<u>))</u>					Not Quoted	

5

H

164/

Sr#	Required Item(s) with specifications					Bid	der	
					1		2	3
		Qty	UOM	M/s Ishaq Al	-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation
(G. Pathology & Microbiology 1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted
(Forensic Medicine & Toxicology 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
(Behavioral Sciences 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
WARD	LIST FOURTH PROFESSIONAL MBBS							
(Special Pathology 1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted
(Eye 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
(ENT 1Set = 1 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	3.483	3,483	1.800	1,800	Not Quoted
(Community Medicine 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
WARD	LIST FINAL PROFESSIONAL MBBS							
(Medicine & Allied 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
(Surgery & Allied 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, narker, pointer & ball point. Recycled paper is not acceptable.	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
(Obstetrics & Gynaecology 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, narker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.205	4,205	3.650	3,650	Not Quoted
(Paediatrics 1Set = 1 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, narker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	3.483	3,483	1.800	1,800	Not Quoted
WARD	LIST FIRST PROF. BDS							
(Anatomy 1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, narker, pointer & ball point. Recycled paper is not acceptable.	200	Nos	9.991	1,998	3.650	730	Not Quoted
67 F	Physiology 1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, narker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted
68 E	Biochemistry	200	Nos	10.713	2,143	4.680	936	Ou -

2~

26

Carl Carl

gu

Sr#	Required Item(s) with specifications					Bio	lder		
					1		2	3 M/s Z.A Corporation	
	CONTROL OF BUILDING SERVICE OF THE RESERVICE OF THE PROPERTY OF THE PROPERTY OF THE PROPERTY OF THE PROPERTY OF	Qty	UOM	M/s Ishaq Al	-Fateh Printers	M/s Union Bu	siness Machines		
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)		de desirable de la Section de					Not Quoted	
69	Oral Biology & Toothmorphology (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
AWAR	RD LIST SECOND PROF. BDS								
70	Pharmacology (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
71	General Pathology (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
72	Community & Preventive Dentistry (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable)	200	Nos	9.991	1,998	3.650	730	Not Quoted	
73	Science of Dental Material (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
	Behavioral Sciences (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
AWAR	RD LIST THIRD PROF. BDS								
75	General Medicine (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
76	General Surgery (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
77	Oral Medicine (1Set = 1 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable)	200	Nos	9.269	1,854	3.000	600	Not Quoted	
78	Oral Pathology (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
	Periodontology (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
AWAR	RD LIST FINAL BDS								
	Oral Surgery (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	9.991	1,998	3.650	730	Not Quoted	
81	Operative Dentistry (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	9.991	1,998	3.650	730	Not Quoted	

- An



Sr#	Required Item(s) with specifications					Bid	der		
D.					1		2	3	
	THE STREET S	Qty	UOM	M/s Ishaq Al	-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation	
82	Orthodontics (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	9.991	1,998	3.650	730	Not Quoted	
83	Prosthodontics (1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	200	Nos	10.713	2,143	4.680	936	Not Quoted	
AWAF	D LIST FIRST PROF. NURSING (2-YEAR)	U							
84	Basic and Applied Sciences (Part-A Biochemistry) (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
85	Basic and Applied Sciences (Part-B Microbiology) (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
86	Advanced Concepts in Nursing (Part-A Health Assessment) (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
87	Advanced Concepts in Nursing (Part-B Pathophysiology) (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
88	Advanced Concepts in Nursing (Part-C Advanced Concepts in Nursing) (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
AWAF	D LIST FINAL PROF. NURSING (2-YEAR)								
89	Community Health Nursing (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
90	Mental Health Nursing (1Set = 2 Leave, Legal Size, LPaper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
91	Nursing Management (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
92	Clinical Praticum (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
AWAF	D LIST FIRST PROF. NURSING (4-YEAR)								
93	Anatomy I & II (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
94	Physiology I & II (1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	5.651	2,826	3.650	1,825	Not Quoted	
95	Microbiology	500	Nos	5.651	2,826	3.650	1,825	0.44	

/~~

31

gu -

Sr#	Required Item(s) with specifications					Bid	lder		
		Qty	UOM		1		2	3	
				M/s Ishaq A	-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation	
	(1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted	
96	Biochemistry & Applied Nutrition	500	Nos	5.651	2,826	3.650	1,825		
	(1Set = 2 Leave, Legal Size, LPaper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
97	Community Health Nursing	500	Nos	5.651	2,826	3.650	1,825	Nuc	
	(1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
98	Fundamentals of Nursing I & II	500	Nos	5.651	2,826	3.650	1,825		
	(1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
WAF	D LIST SECOND PROF. NURSING (4-YEAR)								
99	Adult Health Nursing-I	500	Nos	6.373	3,187	4.680	2,340		
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	,						Not Quoted	
100	Adult Health Nursing-II	500	Nos	6.373	3,187	4.680	2,340		
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
101	Pathophysiology I & II	500	Nos	6.373	3,187	4.680	2,340		
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
102	Health Assessment I & II	500	Nos	6.373	3,187	4.680	2,340		
	(1Set = 3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
WAF	D LIST THIRD PROF. NURSING (4-YEAR)								
103	Community Health Nursing-II & Tropical Diseases	500	Nos	5.651	2,826	3.650	1,825		
	(1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
104	Paediatric Health Nursing	500	Nos	5.651	2,826	3.650	1,825		
	(1Set = 2 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
WAF	D LIST FINAL PROF. NURSING (4-YEAR)								
105	Critical Care Nursing	500	Nos	4.930	2,465	3.000	1,500		
	(1 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
106	Clinical Practicum	500	Nos	4.930	2,465	3.000	1,500		
	(1 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
WAR	D LIST 1st Semester BS NURSING (4-YEAR)								
107	Fundamental of Nursing-I	1,000	Nos	4.927	4,927	4.680	4,680		
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
108	Natural Sciences	1,000	Nos	4.927	4,927	4.680	4,680	1. 2. M	
						*		A H. O	



Sr#	Required Item(s) with specifications					Bio	lder		
					1		2	3	
	military and the first of the state of the first of the f	Qty	UOM	M/s Ishaq A	I-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation	
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted	
109	PEARL-I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
AWAI	RD LIST 2nd Semester BS NURSING (4-YEAR)								
110	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
111	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
112	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
113	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
AWA	RD LIST 3rd Semester BS NURSING (4-YEAR)								
114	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
115	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
116	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
117	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
AWA	RD LIST 4th Semester BS NURSING (4-YEAR)								
118	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
119	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
120	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	
121	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	1,000	Nos	4.927	4,927	4.680	4,680	Not Quoted	

8~

SI

Sr#	Required Item(s) with specifications				ak menangan serah	Bio	lder		0
					1		2	3	
		Qty	UOM	M/s Ishaq A	I-Fateh Printers	M/s Union Business Machines		M/s Z.A Corporation	
AWA	RD LIST 1st Semester Doctor of Physical Therapy (DPT)								
122	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
123	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
124	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
125	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
AWA	RD LIST 2nd Semester Doctor of Physical Therapy (DPT)								
126	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
127	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
128	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
129	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
٩WA	RD LIST 3rd Semester Doctor of Physical Therapy (DPT)								
130	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
131	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
132	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
133	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
134	Subject V (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not	Quoted
AWA	RD LIST 4th Semester Doctor of Physical Therapy (DPT)	E.		ď					

,			
1	1	/	
8		/ /	
	6	61	611

		101/6							
Sr#	Required Item(s) with specifications					Bid			
Ċ .		Qty	UOM		1	2			3
	数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数数	Qty	COM	M/s Ishaq Al-	-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A C	orporation
135	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not C	Quoted
136	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not C	Quoted
137	Subject III (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not C	Quoted
138	Subject IV (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not G	Quoted
AWAF	RD LIST 1st Semester BS Hons. Programs								
139	Subject I (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not C	Quoted
140	Subject II (3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)	500	Nos	6.373	3,187	4.680	2,340	Not C	Quoted
AWAF	RD LIST 2nd Semester BS Hons. Programs								
141	Subject I	500	Nos	6.373	3,187	4.680	2,340	Not 0	Quoted
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.								
AWAF	RD LIST 3rd Semester BS Hons. Programs								
142	Subject I	500	Nos	6.373	3,187	4.680	2,340	Net	December of
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not	Quoted
143	Subject II	500	Nos	6.373	3,187	4.680	2,340		
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not (Quoted
144	Subject III	500	Nos	6.373	3,187	4.680	2,340	Not (Quoted
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)				į.			Not	∡u∪i c u

SS

An

8

Sr#	Required Item(s) with specifications			Same of the same		Bio	lder	
					1	2		3
		Qty	UOM	M/s Ishaq A	I-Fateh Printers	M/s Union Bu	siness Machines	M/s Z.A Corporation
AWAI	RD LIST 4th Semester BS Hons. Programs							
145	Subject I	500	Nos	6.373	3,187	4.680	2,340	Net Oveted
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.							Not Quoted
146	Subject II	500	Nos	6.373	3,187	4.680	2,340	Not Quoted
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted
147	Subject III	500	Nos	6.373	3,187	4.680	2,340	
	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted
148	Subject IV	500	Nos	6.373	3,187	4.680	2,340	National
-	(3 Leave, Legal Size, Paper Quality = Local 68 Grm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.)							Not Quoted
	Total				7,866,644		13,693,347	

It is hereby confirmed that aforesaid items are in compliance with required specifications (rates are inclusive of all taxes)

End User

FINANCIAL COMMITTEE:

The financial statement checked and verified by the end user. The Finance Committee met on 22-01-25 examined and evaluated the financial statement statement and evaluated the financial statement and evaluated the financial

Ms. Shagufta Naseem Member

Prof. Dr Sidrah Saleem

Mr. Mujahid Iqba

FINANCIAL EVALUATION / COMPARATIVE STATEMENT

Tender for Procurement of Annual Printing and Stationery Items for Examination Department, University of Health Sciences, Lahore

COMPARATIVE STATEMENT:

1. Name of Procuring Agency: University of Health Sciences Lahore

2. Method of Procurement: Single Stage Two Envelopes Bidding Procedure under PPRA Rules 2014 (amended)

3. Title of Procurement: Tender for Procurement of Annual Printing and Stationery Items for Examination Department, University of Health Sciences, Lahore

4. Date & Time of Bid Closing: 20-12-2024 - 03:00 PM5. Date & Time of Bid Opening: 20-12-2024 - 03:30 PM

6. No. of bids received: 02

		7 State			Bidder Name				
	# Required Item(s) with specifications	Qty			1	2			
Sr#			UOM	M/s Tripple H Traders		M/s The Time Press (Pvt) L			
				U/ Price	Total Price	U/ Price	Total Price		
	Category - II								
1	Legal size Envelope with printing	20,000	Nos	7.75	155,000	13.10	262,000		
	as per sample								
	Window Envelope/Acceptance Envelope as per sample	20,000	Nos	6.95	139,000	8.00	160,000		
	Cloth Bag (Different Color)	12,000	Nos	84.25	1,011,000	88.40	1,060,800		
	with screen printing as per sample				<u>*</u>				
4	Examiner File	6,000	Nos	49.75	298,500	140.00	840,000		
	as per sample								
5	ID Sheet (Attendance Practical)	20,000	Nos	1.19	23,800	2.40	48,000		
	Paper Quality = Local 68 gm Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.				;				
	Grm Size = (A4)						a a		
	Color = White								
6	Envelops (9x4) with UHS Logo & Name	5,000	Nos	7.50	37,500	5.70	28,500		
	as per sample				\cap	я			

	Required Item(s) with specifications	Qty		Bidder Name						
					1	2				
Sr#			UOM	M/s Trip	ple H Traders	M/s The Time	e Press (Pvt) Ltd			
7	OSPE/Practical Envelops	8,000	Nos	10.95	87,600	75.00	600,000			
	Paper = Craft									
	Paper Quality = Smooth Finish virgin paper suitable for ink pen, marker, pointer & ball point. Recycled paper is not acceptable.									
	Size = (15" X 11.5" X 3")									
	Color = Brown									
	Total	-			1,752,400		2,999,300			

It is hereby confirmed that aforesaid items are in compliance with required specifications (rates are inclusive of all taxes)

End User

FINANCIAL COMMITTEE:

> Ms. Shagufta Naseem Member

Prof. Dr Sidrah Saleem Co-Convener Mr. Mujahid Iqbal Convener

FINANCIAL EVALUATION / COMPARATIVE STATEMENT

Tender for Procurement of Annual Printing and Stationery Items for Examination Department, University of Health Sciences, Lahore

COMPARATIVE STATEMENT:

1. Name of Procuring Agency: University of Health Sciences Lahore

2. Method of Procurement:

Single Stage Two Envelopes Bidding Procedure under PPRA Rules 2014 (amended)

3. Title of Procurement:

Tender for Procurement of Annual Printing and Stationery Items for Examination Department, University of Health Sciences, Lahore

4. Date & Time of Bid Closing: 20-12-2024 - 03:00 PM

5. Date & Time of Bid Opening: 20-12-2024 - 03:30 PM

6. No. of bids received:

01

Sr#		Qty		Bidder Name		
31 #	Required Item(s) with specifications		UOM	M/s The Time	e Press (Pvt) Ltd	
W. Callet				U/ Price	Total Price	
<u> </u>	Category - III					
1	Response Form (MCQ 150) As per sample 100 gm, high finish, super white, pulp free paper, printing should be according to the scale factor of the sample, imported Japanese ink should be used for printing of MCQ Response Form. There should be no variation in the colors i.e. shade should remain uniform for whole of the form (as MCQ Response Form is sensitive to colors variation) Sr. No. = From to	250,000	Nos	6.35	1,587,500	
	Total				1,587,500	

It is hereby confirmed that aforesaid items are in compliance with required specifications (rates are inclusive of all taxes)

FINANCIAL COMMITTEE:

_examined and evaluated the finan antime file is aminations The financial statement checked and verified by the end user. The Finance Committee met on 12-01-25 that the bidder M/s The Time Press (Pvt) Ltd quoted the lowest price for Category-III MCQ Response Form, tender for Annual Printing and Station engineering for Health Sciences. Examination Department, University of Health Sciences, Lahore. The case may be forwarded to Competent Authority for approval. Lahore.

Ms. Shaqufta Naseem Member

Prof. Dr Sidrah Saleem Co-Convener

Mr. Mujahid Igbal Convener

End User

Controller of Exercicalisms Vavarolly of Health Sciences. Lances.